BSEH Practice Paper

Subject: Economics, Set - D Class 12th

General Instructions.-
i)  Questions paper contains two section.
Section - A- Micro Economics
Section - B- Macro Economics
i) This paper contains 20 multiple choice questions type questions of 1 mark each.

iii) This paper contains 4 short answer questions type questions of 3 marks each to be
answered in 60 to 80 words.

iv) This paper contains 6 short answer questions type questions of 4 marks each to be
answered in 80 to 100 words.

v) This paper contains 4 long answer questions type questions of 6 marks each to be
answered in 100 to 150 words.
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Section- A (Micro Economics)



Class 12th


1. $hid RAIgid &) T gl ST 8 ?
a) gufS orfemem b) AR SrefemA ORIESIECIEE] d) Fima o

what is price theory called?

a) Macro Economics b) micro Economics c) Public finance d) Price control
2. T TR <ht T &
a) gedt 8 b) &t & c) AR w8 d) 379 @ FIE G

Marginal rate of substitution in general:

a) deereasing  b) Incoeasing c¢) remain constent  d) None of These

3. iRt ag Y R & =TT a5k ol ool gl 8

a) g-TcH%R YEAUIRED C) Ox 378 oh AR d) oy 3181 & FHT=R

In the case of a Griffen good the slope of the demand curve

a) Positive b) Negitive c) parallel to OX- axis  d) parallel to QY - axisis
4, 9 9 S6TR o foig % & forg hima war fdst Tre @ gidl 82

(a) GenTfOenrY b) gd ufaegaf c) Gentfenet ufaratfirar d) SreaTfieRt

In which market is the price line for the firm a horizontal straight line?

(a) monopoly b) Perfect competition c¢) monopolistic Competitim  d) oligopoly
5. gof ufaaifiar # axg & i S Rafor:
a) 3fchell a¥g <l 77T el 8 b) Srchett a¥ <ht Smgfcf et &

C) ¥ hI AT R MYfd AT gRIBIAT g d) IRhR GRT fhaT ST &1
Determination of price of goods in perfect competition:

a) is done by only demand of goods

b) is done by only supply of goods.

c) is caused by both demand and supby of goods

d) is done by Government.

REERICARRCI CIRSIERITE

Fill in the blanks with appropriate words



6 IJUHIRT TJeT o dCTIAT Ish [A=ATOT IUAMIAT & AT Al - - - - - SYRUN W YR 81 ( shHaT<h/
)

Ic amalysis of consumer's coquilibrium is based on the Concept of - - - - -- meuserment of utility.
(ordind/cardinal)

7. 59 HHd & Fe- W Yfd 96 Srdt 8, at g9 - - - - - Fgd g1 (gfd i faar / gfd 7 gf)
when supply increase as price increases, it is called... (expension is suplily / increase is supply)

8. ged-ged SIuTd &l e - - - - - - AN giaT &1 (STeTdhret/ &eahret )

The law of variable proportions applies in (shortrun/ longrun)

fferfaa st & g Al it sifreae (A) 3R @R (R) & U H IdraT T1 g1 == g 79 faredi & 9
et farened |

faemea-

(a) 31fHehY (A) 3R &RUT (R) SHT ol g1 BRUT (R) SifHRU (A) Pt Tl e g

(b) 1fHeR2 (A) 3R HRUT (R) T Tat @ ifchT RUT (R) ifARe (A) hl Tgt e -6l 8l

(c) Sif9dmaA (A) Tal ¢ wifch @rRoT (R) TTeid 8l

(d) f9¥emUA (A) 7Tl @ wtfchd RoT (R) @1 81

In the following question, two statements are stated as Assertation (A) & Reason (R). Choose
the correct alternative among those given below:

Alternatives:

(a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertain (A)

(b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertain (A)

(c) Assertain (A) is true but Reason (R) is false.

(d) Assertain (A) is false but Reason (R) is true.

9. SifHehYFI(A) uRad=Rfiel SrIuTd & e & s ST HehdT 81

HRUI(R) dehriteh H GUR S A1 g1 g7 uRad==flel SIIUTd & g+ st @fid e dehd 8l
Alsostiene(A) law of variable Proportions can be avoided

Reason(R) In is with improvement in technology that we can Postpone the law of variable



proportions.

10. 3 ARYF(A) STd deh WA IUTANAT hRIHAS & dd deh ol IUAIT Tl 8
FHRUN(R) HHT=T IUTIT el ITTNT Y &A™ 81

Assertion(A) TU increase as long as mu is positive.

Reason(R) mu is the slope of TU

11. |RT S T YROT St TWE L

Explain the Concept of Demand Schedule.

or

Seff AT Rt YRUT & WE

Explain the concept of fixed cost?

12. gf<i <ht dhiFd o A1+ bt ufaerd fafd 6 samen &

Explain the percentage method of price elasticity of Supply.

13. R o Ufdthel ¥ FIT AU &1 GHSTA

what is meant by returns to a factor? Explain.

or

ISR STAHETIT AT FHTSTATE! AT H =R TE FY |

explain the difference between market Economy and socialist Economy
14. QRIfIehrt Ufrafiiar TR <l IR faivang sarsy

Discuss the four main features of monopolistic competition market

15 THY RIAd’ g7 AT hIHd | RIT TF-4 gidT g

what is the relations between support price & equilibrion price.

16. WY IUAEIT 3TN g i caredt a7 afgd #r|

Explain the theory of Food Availability Decline with the help of Diagram.
or

ofd & g a1t aRed Y gge Hud W T uaTg usdr § 11 gRT g9eisd|

Explain with the help of a dragsom, what effect a change in supply has on the equilibrium price.



17. gd ufaft SR 7 steuehrei= dger ol fRfa & @y &t fafera wwra=mstt &6 saren e

Explain the different possibilities of profit in the shartron equiliarium of a perfectly competitive
moithat.

or
Pl AN, S AN TUT HHI ST chl YROTISH chl SREAT e
Explain the concepts of Total cost, Average cost and marginal Cost.

Section-B (Marco Economics)
18. g My ReR glar &
a) gehel (AT + Heg g9 b) Tehet faRT - Gou g1d
C) Tohdl 13T X g g d) ghet faer / gea g4
Net investment equals to
a) Gross investment + depreciation b) Gross investment - depreciation
c) Gross investment X depreciation d) Gross investment / depreciation
19. ATUR AN Y JelT F 1A AT &:
a) 31fdre amgen b) &H =Teh c) a 3R b g d) 378 @ S @
Balance of payment compared to trade balance:
a) more width b) less extensive c)Bothaandb  d) None of these
20. fafr7a R & AU SI=RTEIT HaT JoTR H G et dhl 3 hef{dl & &0 #:
a)Fmad bR HeguEdR  c)asRbad  d)agRfwadd

Exchange rate refers to the exchange rate of one Cosmicy against another currency in the
International money market

a) is from price b) is exchange ratio c¢)bothaandb d)is from Baater

21. P Tch:

a) Dk PrIa- g b) ANAF YT E o) TH HLN a8 8 d) Iudih ol
Taxis:

a) optional payment  b) mandatory payment c¢) is nota legal payment d) All of these

22. gt Aifges fifa o1 38T g1



a) URg & AR &A1 b) %] 3R Tarsit i 77 1 | gieg e

c) JaThifdeh IR dH T d) T 9o

The objective of Cheap monetary policy is

a) extend credit b) increase demand for goods & sawires
c) reducing inflationary gap d) All of these

3R et & Wrelt TH W

Fill in the blanks with appropriate words

_______ & gTeT TTeh =R hT I&TeR0T ¢ (Fwufd / diawe Iare)

is a example of stock variable.

______ P Teh UTT &1 (=TT / A1)
Undistondated profitis a partof_ _ _ _ _ _ (Intrest / profit)
25. MPC+ MPS =__ _ __ (T / L79)

MPC+MPS=_____ (one / zero)

ffefEa ust A &t syt @l sffiees (A) 3R &RUT (R) & T4 # dra1 11 g1 19 g 71g forepedt 7 &
gt farered |

e

(a) S1fAR (A) 3R HRUT (R) ST Tt §1 HROT (R) MfARYUT (A) Pl Tgt e |

(b) StfHR (A) SR FRT (R) T Tel & wifchT SRl (R) Sifene (A) 6 T&t s 8 8

(c) S1fHeRy= (A) T8l & «ifchd RT (R) TTerd 81

(d) 31fFeRa= (A) TTeTd & AAfch Rt (R) Tal 8

In the following question, two statements are stated as Assertation (A) & Reason (R). Choose
the correct alternative among those given below:

Alternatives:

(a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertain (A)

(b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertain (A)



(c) Assertain (A) is true but Reason (R) is false.

(d) Assertain (A) is false but Reason (R) is true.

26. 3R UT(A) THAHIUT chaed THE TR H A g1

FHRUN(R) ford) T AT It / SRTd AR =R 981 81

Assertion (A) Aggregation is involved only in macro Economics.
Reason (R) output of a firm is not a macro Variable.

27. 31fHHUF(A) GDP o 3fener # afd et oft enfaer fopar Srar 81
FHRUN(R) BT <t &1 718 BEGId GDP & 3Teher= | M foham STrar 81
Assertion(A) Experts are inculded in the estimation of GDP
Reason(R) scholarships granted to the students are inculde in the estimation of GDP
28. A g% hl STYURUN i HSSY

Explain the concept of Intermediate goods.

or
g fafdy gRT AFT S T STt ahd THY &Rt ST aTelt o= radnf=ar garsd|

Mention three precautions state to be taken while estimating national Income by expenditure
method.

29. ¢ & AT ol TEEd |

Explan the evolution of money.

30. g &9 & TR I B Sd18d

state the main four functions of central bank

or

I 91 &t RIS FifSg| 3T e ga5d|

Define aggregate demand. State its components.

31. a1 7oTeR @ T i &1 IURh ITERUT ZRT AHESA |

What is meant by Investment multiplier? Explain with the help of Suitable example.

32. WHRI Fo1e T ¢ | 3Hh &I 3¢ Id13d |



what is government Budget ? state its main objective
33. 'a¥g fafwaa vumeft qut #ifges vomell’ # T 3R 81 4T & ohls IR i ford|

Distinguish between "Barter system of exchange and monetary exchage. write any four function
of money

or

Qoh a1 7 qrdfdes 311 500 IS & Safch guf ISR WR 319 800 &S g1 afc MPC = 0.75 g at
fohamT fAaer sreran S fos gof Ao &6 fRafa o gt sy

Real income in an economy is 500 crore while income of full employment is 800 crore. If mpc is
0.75, then how much investment shadd be increased to achieve the stuntion of full enplay ment.

34. ISR ifa o 82 Srefagawr & S1fd AT bt g & folt 38 v vl fohar ST 8
what is fiscal policy? How much it used to reduce excess demand in an economy.
or

TR h T 3R TR-th ch 31 h Sl chl AT e

Explain tax revenue & non-tax revenue Sources of government.



